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QUESTION 1
An ArubaOS switch has an LACP link aggregation with two links. How does the switch balance traffic over the links?

A. It assigns the first conversation (as defined by the load-balancing algorithm) to the first link, the second conversation
to the second link, and so on, in a round-robin fashion.

B. It assigns the first packet to the first link, the second packet to the second link, and so on, in a round-robin fashion.

C. It assigns all traffic to the first link until the link reaches a bandwidth threshold; it then assigns traffic to the second
link.

D. It assigns each conversation (as defined by the load-balancing algorithm) to a consistent link, based on a hash.

Correct Answer: B

QUESTION 2

A network administrator needs to reach an ArubaOS switch CLI at a management IP address. The administrator also
needs to ensure that the switch entirely rejects Telnet and SSH connections from users in data VLANs. How can the
administrator meet these goals?

A. Configure the management IP address on the default VLAN and set a manager password.

B. Configure the management IP address on the OOBM port and configure the switch to listen for Telnet and SSH only
on this port.

C. Configure the management IP address on any VLAN except the default VLAN. Set a manager and operator
password.

D. Configure the management IP address on a VTY interface and bind an ACL to this interface.

Correct Answer: A

QUESTION 3

A network administrator wants to apply a critical PoOE priority to any ArubaOS switch port that connects to an Aruba AR
The priority should be applied dynamicaly based on LLDP messages received from the AP. Which step should the
administrator take to meet this goal?

A. Configure the PoE usage setting on all ports as class and make sure that Aruba APs are defined as Class 4 devices.
B. Configure the PoE usage setting on all ports as tfdp.

C. Enable LLDP MED TLV extensions on the switch port.

D. Enable the default AP profile bound to the Aruba AP device type.

Correct Answer: D
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QUESTION 4
What is one requirement to combine Aruba 5400R zI2 Series switches in a Virtual Switching Framework (VSF) fabric?

A. One of the switches must be an Aruba 5412R switch, white the other member can be any switch in the 5400R
series.

B. Both of the members must have two management modules.
C. The switches must operate in v3-modute only mode: any modules of an earlier version are automatically disabled.
D. The interfaces assigned to the VSF link must be pre-configured as part of a link aggregation.

Correct Answer: A

QUESTION 5

Currently the routing switches shown in the exhibit have only connected IP routes. The network administrator needs to
add static routes to support communications between subnet 10.1.4.0/24 and subnet 10.1.8.0/24. Which switch or
switches require a static route to 10.1.8.0/247?

A. Switch-3 only

B. Switch-1 and Switch-3

C. Switch-1 only

D. Switch-1 and Switch-2

Correct Answer: B
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